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Sub-Section Number: 1
Sub-Section Id: 335472273
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354728231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich was the first satellite built by the Indian Space Research Organization? | 9Rd 19 SiaiKel STgaem Sa- 1T
TTfT ugaT Iuug ®9 a7 ar?

Correct : 1 Wrong : 0

Options :

1. ¥ Rohini [ Tfgvft

2. ¥ Bhaskara | WTE#HT
3. ¢ Aryabhata | s
4. ® Trishul | Bga

Question Number : 2 Question Id : 3354728232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In wt%i?ch state is The Bhagwan Mahavir Wildlife Sanctuary situated? | Ta Tea § Wa™ UEER a-2sile STHIRUE

Correct : 1 Wrong : 0

Options :

1. ¥ Goa | mar

2. ® Kerala | 3

3. ® Manipur | #iYT
4. ® Bihar | TR

Question Number : 3 Question Id : 3354728233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following bones is located in the human arm? | FRfeas gigat # & @19 9 ama o § =a 22
Correct : 1 Wrong : 0

Options :

1. ¥ Sternum | IO (&4
2. ¥ Radius | 3gz9

3. ® Patella | FATi~aeT (Gewa)
4. ® Fermnur | &3 (7))

Question Number : 4 Question Id : 3354728234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which year was the States Reorganisation Act passed? | w4 At siafaw fora o & uriea gam g
Correct : 1 Wrong : 0

Options :

1. ¥ 1954
2. % 1955
3. ¢ 1956
4. ® 1957

Question Number : 5 Question Id : 3354728235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“World Day against Child Labour’ is celebratedon _____________ of every year. | ‘faua amerm oy fgaw, ved@ ad
FI AT AET 81

Options :

1. ¥ 12th June | 12 37

2. ¥ 14th June | 14 97

3. # 14th November | 14 SaeX

4. ® oth June | 9 ECl

Question Number : 6 Question Id : 3354728236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who presides over the joint session of the Parliament? | §9g & GgH 7 ®I SIEAHTT R BLAT 57
Correct : 1 Wrong : 0

Options :

1. ¢ Speaker | s1eT4

2. ® Deputy Chairman | 37 g0
3. ® President | TpUia

4. ® Vice President | 37 TEUTd

Question Number : 7 Question Id : 3354728237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following satellites did ISRO attempt to launch on August 31, 20177 | 57 IuR! # & e gaxr @t
31 SMTEq 2017 T V&0 F T 7T fopa?

Correct: 1 Wrong : 0

Options :
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1. ¥ INSAT -1C | g9z -1C
2 ¢ [RNSS - 1H | IRNSS - 1H
3 ® pSLV -14 jPSLV - 14

4. # Astrostat | THZ LT

Question Number : 8 Question Id : 3354728238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Name the act passed in 2016 which seeks to protect home buyers interests in India. { 2016 H uTiea arfarfem 31
AT FqT0 ST AR H O] @GR o Tgal @l T4T T g7

Correct: 1 Wrong : 0

Options :

1. ¥ Home Buyers Interests Protection (Regulation and Development ) Act 2016 | Tg @UgaR g gegT (afem
3T ) srfaf==aw 2016

2. ® Real Estate Investment (Protection & Developrment) Act 2016 | e ueee fayr (@eeo ua e sidfam
2016

3. ¥ Real Estate (Regulation and Development ) Act 2016 | T ueee (Afazme st Hwm) sfafamm 2016
4. ¥ Real Estate Regulatory Authority Act 2016 | T gede At midemer sifafa=m 2016

Question Number : 9 Question Id : 3354728239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘ié?mo was the first Indian to becorne a member of British Parliament? | TS §6 & G a9 16l Ugel WA 14 @19

Options :

1. ¥ W.C. Banerjee | Zea dl.awl

2. #® Bal Gangadhar Tilak | aTe TR &ae
3. ¥ Dadabhai Naoroji | STETHTE ARSI

4. ® Lala Lajpat Rai | @TaT g T

Question Number : 10 Question Id : 3354728240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What does MSME stand for? {TUUHURS &7 quf &7 2T 37
Correct: 1 Wrong : 0

Options :

1. ¢ Micro, Small and Medium Enterprises | HIS#!, THIH US HITSTH STOMEa
2. ¥ Money Savings Minor Enterprises | AT @l ATE eO0Eo

3. ¥ Major Savings Management Endeavours | A9t dfde f4wHe U2a9

4. # Maharashtra State Municipal Engineering | AgRIE €T R TAUA ST

Question Number : 11 Question Id : 3354728241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who is appointed as the Comptroller & Auditor General of India in Septemnber 20177 | Wdat 2017 # ARd &
T Ud AgTerar udiged & €0 § T agea foam e g7

Correct: 1 Wrong : 0

Options :

1. ¥ Rajiv Mehrishi | T<ia AgH

2. ® Vinod Rai | faqig =1

3. #® Sashikant Sharma | sidera st
4. ® Sunil Arora | gHId RIST

Question Number : 12 Question Id : 3354728242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which present-day state of India did the Railways run its first train? | adA # 9RT & o5 T # 3@ = ST

TR ool TTRATS 7

Correct : 1 Wrong : 0

Options :

1. ¥ Maharashtra | AERTZ

2. ® Gujarat | ToRIT

3. #® Uttar Pradesh | JoC UGS

4. ¥ Madhya Pradesh | Aeg naq

Question Number : 13 Question Id : 3354728243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following constructions in Madhya Pradesh has NOT won the Aga Khan Award for Architecture?

| meg vy ¥ emiaiaT & & frg Tl 3 areqeren ¥ g smm @ Qew a8 siar?

Correct : 1 Wrong : 0

Options :

1. ¥ Aranya Community Housing, Indore | SRURT FHJHeT EIITET, 1K
2. ¥ Vallabh Bhawan, Bhopal | a@a ¥a-, {me

3. # vidhan Bhavan, Bhopal | Teren s/e=, \ame

4. # Slum Networking, Indore | T&H J2aieh, Ta

Question Number : 14 Question Id : 3354728244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which region is famous for bauxite, copper and dolornite in Madhya Pradesh? | 7e U2y # @14 €T §F S1ddEe,
FIOT 3T ¥ forg nideg 37

26th Dec 17 Shift 2



26th Dec 17 Shift 2
Options :
1. ¢ Balaghat | STaTaE
2. ® Jawad | Jag
3. ® Bhairongarh | ¥ITg
4. ® Satna | G4

Question Number : 15 Question Id : 3354728245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following places is the Siddhnath Barahdwari Mandir located? | Fgiaiea # & forg g [egamer
ARTZEI Aty T 27

Correct: 1 Wrong : 0

Options :

1. ¥ Mandhata | FemaT

2. ¢ Omkareshwar | STHEHTCET
3. ®¥ Harda | g7

4. ® Punasa | gAET

Question Number : 16 Question Id : 3354728246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Immediately after Indian independence, Guna became part of the stateof ________. | IR T TIG AT oF TARTA A1,
T & T & TgedT & mem

Correct : 1 Wrong : 0

Options :

¢ Madhya Bharat | TeT 9Ra

# vindhya Pradesh | feez mear

# Bhopal | ¥

# None of the above | g0 & @15 51

ol L B

Question Number : 17 Question Id : 3354728247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Alirajpuris partof _________ Lok Sabha Constituency. | ST _________ der T Tartae &3 @7 gear g1
Correct: 1 Wrong : 0

Options :

¢ Ratlam | W@aH
# Jhabua | g
#® Barwani | ggamT
# Khargone | @@+

o L B
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Question Number : 18 Question Id : 3354728248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many districts are there in Indore division? | Ear & # fra+ et 87
Correct : 1 Wrong : 0

Options :

B SN e
&
—
o

Question Number : 19 Question Id : 3354728249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where was the FIFA 2017 U-17 World Cup held? | HIBT 2017 8/8T-17 Toka &0 F5T i form mam ar?

Options :

General Maths and General Aptitude
® USA | guEw
# Belgium | dfeoam
#® China | g9
. ¥ India | ¥RT

e U

Question Number : 20 Question Id : 3354728250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The two main stock exchanges in India are ___and ___. | 9Rd ¥ I §&IT RR TR ____ 3 ____ )
Correct : 1 Wrong : 0

Options :

1. #¥ National Stock Exchange of India, Delhi Stock Exchange | S99 €216 Uoaa T SiadT, el i gaa
2. ¥ National Stock Exchange of India, Bombay Stock Exchange | 999a €210 UFazis 3i1F S1S 2T, aive e Uaea
3. ® National Stock Exchange of India, Calcutta Stock Exchange | S99 €21 Uaee TE SiadT, Fawdl 1w

4. # Calcutta Stock Exchange, Bombay Stock Exchange | aedl €216 Uoeris, aTve T2 Taee

Section Id : 335472274 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
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Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472274
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If New Year in 2002 fell on a Tuesday, then 26th Jan 2004 will fell on which day? | 9fg 2002 # Jaad AT &1
UST 9, T 26 et 2004 F B &7 o u2T?

Correct: 1 Wrong : 0

Options :

1. ¥ Monday | 9HaR
2. ® Tuesday | AT
3. ® saturday | 9fHaR
4. ® Sunday | TR

Question Number : 22 Question Id : 3354728252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Look at the string VERTEXVERTEX... VERTEX repeated 10 times. In sStage 1 remove all odd position letters. In
stage 2 remove all odd pOSitiOI‘l letters. Repeat this till a single letter remains. What is the letter? | ﬁ;‘:{
VERTEXVERTEX... VERTEX W €44 &IiWy g VERTEX 10 o ATTge 591 31 =R 1 # T ferem v w9 arget @t
g =0T 2 H T et oww et o7 T st @ eI T 99 9@ SIReT Sie 99 17 STl U SIgR T 49 131 g SI4R 74T 27

Options :
1. 8y
2. 8T
3. 8 X
4 v E

Question Number : 23 Question Id : 3354728253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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2121212121210

The fraction TP reduced to the lowest terms (where numerator and denominator have
5 < 2121212121210 -
no common factors) is___. / =gAcH e H dghd e i HEUNEH

32T AR g F FE o FAA UGS FE 8) |

Correct: 1 Wrong : 0

Options :
73
37
2w
70
3¢
70
4 % 13

Question Number : 24 Question Id : 3354728254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the value of ‘x’° for x3+2x2-5x-6=0? / x3+2x2-5x-6=0% ToIT % & AH F4T &7

Correct: 1 Wrong : 0

Options :

®

&
2 &

ool I
8 <
N
—

Question Number : 25 Question Id : 3354728255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

Let LABC = 50°, AD and CD are angle bisectors of angles BAC and BCA, respectively. Then
tADCis__. | & AT 24BC =50°, AD 3R CD #H: FHIoT BAC 3R BCA &

HIoT 37elw g1 dr 2ADC gl

B

Options :

w0

4oy 130P

o 1150

4. ® None of the above | IUH & & F1e Ag!

Question Number : 26 Question Id : 3354728256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(149+31) 21—7
2 2

Correct : 1 Wrong : 0

Options :

v 150
155
160
b 3

ool A
® 8

Question Number : 27 Question Id : 3354728257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the average. | sffad faiom

19, 24, 18, 10, 39
Correct : 1 Wrong : 0

Options :

1. ¥ 26
2 8 24
3. ¢ 22
4. % 20

Question Number : 28 Question Id : 3354728258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Two angles of an isosceles triangle measure 70° and x°. What is the sum of the three possible

x'aluesofx?/ﬂa?m@ﬁﬁwé?a’f HIOT & AT 70° 3 x° &1 z & o
HeITad ATAT &7 I¥er F4T 67

Options :

1. ¥ g5

2. % 125

3. % 140

4 ¢ 165

Question Number : 29 Question Id : 3354728259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 254642 is divisible by 12, then the value of A is__. [ Iig 254642, 12 A aWFaE, TTA FTHNE _____ 2l
Correct: 1 Wrong : 0

Options :

1. 89

2. %7

3¢5
4 8 3

Question Number : 30 Question Id : 3354728260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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An article is marked 50% above the cost price. If a 10% discount is offered on the marked price, then what is
the actual profit percentage now? | Ud a&q ®I 39% F9 God & S0% 1f9e 0¥ siferq foram mam 31 Afe siferd gear T 10%
W ge ol Gnag GG AT Wi Eri%?

Correct : 1 Wrong : 0

Options :

1. ¥ 40%
2. ¢ 35%
3. ® 32%
4. ¥ 30%

Question Number : 31 Question Id : 3354728261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Gagan can cover his notebooks with brown sheets in 30 mins. What percent of work he would have done in 6

mins? | M 30 e § U 1 & ST P01 TG F aabdl 81 6 T8¢ § 304 F14 @7 fora=m wid e T gimm?
Correct : 1 Wrong : 0

Options :

oD

® 40%
® 30%

® o5y
4. ¢ 20%

o L

Question Number : 32 Question Id : 3354728262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
An article is marked 50% above the cost price. The shopkeeper offers a discount of 10% on the marked price.

What will be the final profit percentage? | Uw T€q ®1 &4 Hrd 4 50% s1i¥@ U2 siferd feparm mam ga=eER siferd gea W
10% @1 FT a7 HaT gl a%nmwﬁww@m = e A

Options :

1. ¥ 35%
2. ¥ 30%
3. ® 25%
4. ® 45%

Question Number : 33 Question Id : 3354728263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Two Coins are tossed once. What is the probability of getting both heads? | 31 gl &1 UF a) IFTAT =M 1 &
TIRaT ST T T TR T 57

Correct: 1 Wrong : 0

Options :

1. 8 3/4
- 3

3¢ 114
4 8 12

Question Number : 34 Question Id : 3354728264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many different combinations of Rs. 5 coins and Rs. 2 coins will give Rs. 277 | U= 20d & &g 8T 2 20d &
gl & Tora Taig 9o 27 702 217

Correct : 1 Wrong : 0

Options :

1.-% 3
2 82
3.¢3
4 8 4

Question Number : 35 Question Id : 3354728265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mean proportional to 6 + @andﬁ- @is: / 6—@@6- J?._? & oo HEW
&

Correct : 1 Wrong : 0

Options :
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1.3
2 89
3. % 10

Jio

4

Question Number : 36 Question Id : 3354728266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the H.CF. of two numbers is 2 and their L.C.M. is 70. Then the nurmbers are: | 4 &1 STl &1 AgH GG
2 3 Ud 39T dgad qamacd 70 3 79 §Ea ¢

Options :

1.8 2 35
2. 85,70
3.8 4,70
4.v¥ 14,10

Question Number : 37 Question Id : 3354728267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What should be subtracted from 363, so that the answer is a perfect square? | 363 # & &7 91T AT ATRY, T

FTR g quf a1l 517
Correct : 1 Wrong : 0

Options :

Question Number : 38 Question Id : 3354728268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The least whole number of four digits which is a perfect square is: | IR i@ & a5 ~gAdH qUI GEJT AT foF e quf a1t

Correct : 1 Wrong : 0

Options :

1. ¥ 1000
2. ® 1012
3. ¥ 1081
4. ¢ 1024
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Question Number : 39 Question Id : 3354728269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following number is a prime number? | 799 # & #19 @ G947 UF =T GET 57
Correct : 1 Wrong : 0

Options :

1. ¥ 107
2 % 115
3. % 121
4. % 129

Question Number : 40 Question Id : 3354728270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The population of two cities 4 and B is in the ratio 5:6, respectively. Express the pogulatlon of city Aasa
percentage of the population of city B. [ &I g & 3T B 1 TGS FHT 5.6 % 2 YET A P ATEEIT FT AFTE
T TTEET & WA Ad & &7 § 2 P

Correct : 1 Wrong : 0

Options :

1. ¥ 120%

2. ¥ 83.33%

3. % 16.66%

4. % 20%
Section Id : 335472275
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472275
Question Shuffling Allowed : Yes

General Hindi
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Question Number : 41 Question Id : 3354728271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Options :

3. ¥ @, 99, ug
4. ¥ AT AR, Aeg

Question Number : 42 Question Id : 3354728272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JaH e § -
Correct : 1 Wrong : 0

Options :

1. ¥ &

2. ¥ uar
3. ® sERY
4. ® 1ic

Question Number : 43 Question Id : 3354728273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tt sreg =51 &-

Correct : 1 Wrong : 0

Options :

N
<
£}

w
b

Question Number : 44 Question Id : 3354728274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Hel UT S92 o Tl UTS g alal o-

Options :

2. ® syfdar
3. ¢ A%

4. ® iR
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Question Number : 45 Question Id : 3354728275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

P geat & & wata gm 3-

Correct : 1 Wrong : 0

Options :

1. ® Stgg-mor
2. ® yrEA-amEd
3. ® gET-AEr

4.V TR

-

Question Number : 46 Question Id : 3354728276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TESA T BT U g W @ ar g7

Correct : 1 Wrong : 0

Options :

1. ¢ ARdt
2% g
4. ® gar

Question Number : 47 Question Id : 3354728277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“Tita T IuTEE & o U Jeg (A9 B | @i @1 27
Correct : 1 Wrong : 0

Options :

1. ® fag

.'V‘c

M
'ff

& fdar
® faeht

w

-~

Question Number : 48 Question Id : 3354728278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘TRlcad @1 ATy fdesg Mg A g @m arg?

Correct : 1 Wrong : 0

Options :
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1. ® AE+Icad
2. ¥ wgH+IcEd
.V HET+3Icad
® Wyt +3cad

w

o

Question Number : 49 Question Id : 3354728279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TG & A Jeg g # & B A1 87

Options :

1. ¥ faga
3. ¥ goga
4 *® foda

Question Number : 50 Question Id : 3354728280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T IUAT | 9T e Mg H A B 27

Correct : 1 Wrong : 0

Options :

1. ® 9 wwaEH
2. ¥ W
3. 8 @

4. ® T

Question Number : 51 Question Id : 3354728281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tedy deg ® g # & T |7 G0 87
Correct: 1 Wrong : 0

Options :

1. ¥ Foyey qAH
2. ¥ aregdaTe |uTd

4. ¥ gty gumg

w

Question Number : 52 Question Id : 3354728282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T H Jg e g BT ATE?

Correct: 1 Wrong : 0
Options :
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1. ® B
2. % e
® @i
v 7

S

Question Number : 53 Question Id : 3354728283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TR T g ©F 9§  RIT AT 87

Correct: 1 Wrong : 0

Options :

1. ¥ uTeidie
2. ® yRTEie
3. ¢ URAlThE
4. ® wETEAlRE

Question Number : 54 Question Id : 3354728284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
SR T @1, T 37T

TR
ﬁ]am At BT, Ut 7|
§ﬁﬁﬂ‘#aﬁ:r%?ja%7

Options :

1. ¥ 9w

2. 8 giF @
3. ¢ qgEE
4 ® gITE

Question Number : 55 Question Id : 3354728285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; T G Thed, Fid, AT =R’
Faﬁ?m%% 1 fd@eur giag?

Correct : 1 Wrong : 0

Options :

1. ¢ 29 aEdR
2. ® IJHw AEFT
3. ® ¥UF AFR
4. ® JUAT AFFT

Question Number : 56 Question Id : 3354728286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T ™7 great & FH FET ST aTell Ul @1 giag - Terett, kg, o, @eca

Correct : 1 Wrong : 0

Options :

1. ¢ ieET, e, O A
2. % Wy, T, AN, IR
3. ® gried, T, v, A

Question Number : 57 Question Id : 3354728287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g ¥ & g g @ gy -

Correct : 1 Wrong : 0

Options :

1. ¢ 3 @ A &) T 4TaT aiem
2. ® @@t A A ER T & e
3. ® emay didT &) U 3 @l Al
4. ® U ! AN A T e

Question Number : 58 Question Id : 3354728288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

o 7 g Saty 98, Y di9 o i,

dlel TH F& T 3, 9T o9 g T i 11
FETT ST0T |6 7T, kg, anrerer fafdg gamg -
HpEarEs -

Options :

1. ¥ drw

2. VT

3. ® yEE ™
4 ® e

Question Number : 59 Question Id : 3354728289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TEATRT Jeg TgTciTad § & Fread! segmae & -

Correct: 1 Wrong : 0

Options :
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1. ¥ soiige aa=
2. ® Rireqr T
3. ® wWrE-fTee
4. ¢ gsmaa

Question Number : 60 Question Id : 3354728290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Aierraer T | & T quTE w7 I 37
Correct: 1 Wrong : 0

Options :

1. ¥ gz auy

2. ® gy anmE

3. ' FHYRT Ut

4. ¥ FIYEY GHTE
Section Id : 335472276
Section Number : 4
Section type : Online

Fural Econormy and Panchayati Raj

Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472276
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354728291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who %gnong the following can impose tax on property in a village? | Tid @ Tret gufer W Fgiead # & 19 & &
AT 2

Options :

1. ¥ State Government | T TR
2. ® Zila Panchayat | M@ vamaa

3. ¢ Gram Panchayat | TTH U=ad

4. ® Janpad Panchayat | S99g F=q
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Question Number : 62 Question Id : 3354728292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

There is no scope of marine fisheries in MP because: | Ted USa ¥ GYGT TFal! UTeld @l S9Ta-T 51 &, Tl
Correct : 1 Wrong : 0

Options :

1. ® Itis very costly | ¥g dgd RN g1 §

2. ® Nobody consumes marine fish | #1 gq! ATl T5] @l 3

3. ¢ The state is land locked | fAma €T & foRT T

4. ® No good varieties of marine fish available | SE#T TUiaaT aTeil GGG G JUACH 5l &

Question Number : 63 Question Id : 3354728293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

MARKFED i1sa_____. | MARKFED U _____ %1
Correct : 1 Wrong : 0

Options :

1. #® Council for marketing cottage industry products | FER JET & Jeural & feuve & @y uieg
2. ¥ Federation of Co-operative Societies | Hg@RT AHTAA] T B LA

3. ® Organisation for marketing big industrial products | T IS & ITUTG] & AU & &6 Smad
4. ® Institution for marketing automobiles | TG & U FT GEIH

Question Number : 64 Question Id : 3354728294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ra_sh;?r:g;r% Iéﬁ‘;shi Vikas Yojana was implemented in which plan period? | TR §Y @ e e AieaT sare #
IR

Correct : 1 Wrong : 0

Options :

1. ¥ 1997-2002
2. ¥ 2002-2007
3. ¢ 2007-2012
4. ¥ 2012-2017

Question Number : 65 Question Id : 3354728295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bee keeping in India is generally ajan_______ | ORT ¥ HeHTET e G U 2
Correct : 1 Wrong : 0

Options :
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1. ¢ agro based rural activity | FiE sremiea midferter
2. ® non-farm sector activity | TR-T ia farer

3. ® industrial activity | sfteniie midfeter

4. # animal husbandry activity | TJUTeA Tid felter

Question Number : 66 Question Id : 3354728296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

National Rural Livelihood Mission (NRLM) was introduced in the year___. { TE1a UTHITT sritielet e (NRLM) o
H e o T

Options :

1. ¥ 1978-79
2. ® 1979-80
3. ¢ 2011-12

4 ¥ 1981-82

Question Number : 67 Question Id : 3354728297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under which scheme is accidental death insurance cover for up to Rs. 2 lakh is provided to people of age

group of 18-70 years? | 7@ IiSHT & SiqTia 18-70 af o & 1T Pl 2 719 2. T GeieT Hog S AT HET T ST g7
Correct : 1 Wrong : 0

Options :

1. ¥ Atal Pension Yogana | SfTa U AT

2. # pradhan Mantri Vaya Vandana Yogana | WelTd #3t a1 ag=1 a1
3. ¢ Pradhan Mantri Suraksha Bima Yogana | Wel= W21 Gea T AT
4. ® pradhan Mantri Jan Dhan Yogana | W #3199 &9 qre=1

Question Number : 68 Question Id : 3354728298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Madhya Pradesh Resettlernent and Rehabilitation of Displaced Persons (Land Acquisition) Act was enacted
in____. Imau&mﬁwﬁammgmwmmgnahﬁ{hafgmmaﬁlﬁm TR &m

Correct : 1 Wrong : 0

Options :

1. ¥ 1931
2. v 1949
3. ® 1957
4. ® 1983
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Question Number : 69 Question Id : 3354728299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who selects the Social Audit Committee under the MGNREGA? | I & 3dTid GTHTE AQ@MOgT iaid &7 =4+ &
HEAT 57
Correct: 1 Wrong : 0

Options :

1. ¢ Gram Sabha | TTH 4T

2. ® village Panchayat | TTH t=Iad

3. ¥ BDO | diStenr

4. ® District Programme Coordinator | THaT #den ga-aa®

Question Number : 70 Question Id : 3354728300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Madhya Pradesh Water Sector Restructuring Project is related to: [ el UGS et &3 Yo URANHT -9 & Fated &

Options :

1. #¥ Dairy | 390

2. ® Agriculture | ¥

3. ® Fisheries | Agal UTad

4. ¥ Improving the agricultural productivity through rehabilitation and modernization of old or existing
irrigation schermes | QAT AT NGl TH2TS AIT8I & Qe Ua STeieeh [ T F1 Jcurgwdl § e Hear

Question Number : 71 Question Id : 3354728301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following is NOT a local brand of bulls in MP? | Tgiead # & a&f &1 &1 |1 WTid 7ed W &r
T T g 27

Correct : 1 Wrong : 0

Options :

#® Gir | X
2. ® Malwai | Adas
3. ¢ Murra | g3
4. ® Nimari | fmmer

Question Number : 72 Question Id : 3354728302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Watershed Development schernes are part of: | S e =10 saaT fTear &,
Correct: 1 Wrong : 0

Options :
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1. ¢ Developing irrigation facilities | =g giaemsit & @am
2. ® Rural Health | Tmior samey
3. ® Rural employment | TTHIT &
4. ® 5kill training in rural areas | TTHIT &3 H aaT WidtgOT

Question Number : 73 Question Id : 3354728303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which schedule was added to the constitution by 73rd amendment related to Panchayati Raj? | dfdem & 73d
e H GG T O | HelTad i |1 e g el TR 17

Correct: 1 Wrong : 0

Options :

1. ¥ 11th { 11ar
2. % gth | 8ar
3. ® gth [ 6ar
4. ® 4th | 4ay

Question Number : 74 Question Id : 3354728304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is NOT taught under Pradhan Mantri Gramin Digital Saksharta Abhiyan in rural areas?

{ TTeToT &t # e wAY i R e anarat siivane F sfavia g # € e 98 ueTem a7

Correct: 1 Wrong : 0

Options :

1. # Operating the computer | FHIZET AATT
2. #® Sending and receiving e-mails | -He AT T WTH FAT
3. ¢ Tally package | et Gar

4. ® Browsing internet | EeTA¢ STIH HLAT

Question Number : 75 Question Id : 3354728305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The revised targeted number of rural houses to be built by 31st March 2018 under Pradhan Mantri Awas

\fojana-Gra%nnis _______ { TEIT WA STTET AIAAT-UTHIO & SiaTia 31 A 2018 T UTHI €T &1 SATET P bl g
qEqT

Options :

1. ® 36lakhs | 36 @9
2. ® 41 lakhs | 41 @@
3. ® 46 1akhs | 46 @G

4. ¢ 51 lakhs | 51 @9
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Question Number : 76 Question Id : 3354728306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Part [¥ of the Constitution of India is related to __________. [ TG & AT &7 9nT ¥
Correct : 1 Wrong : 0

Options :

1. ® Secularism | H=RUSET

2. ¢ Panchayats | T=Tad

3. # Agrarian Reforms | F4 Gaefl §UR
4. ® Rural Development | TTHIT @@

Question Number : 77 Question Id : 3354728307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the Constitution, election to constitute a Panchayat shall be completed before the expiration ofa

eriod of ______ from the date of its dissolution. | HideT= & SJHR, U UDTAT F1 TE @0 & (o] AT ferae @ e
______ T St & GHTH § Ugel AT ot g1 ST A

Correct : 1 Wrong : 0

Options :

1. ¥ Four months | IR A%
2. ® One year | UF a¥

3. ¢ Six months | & AT
4. ® Two weeks | 3T A

Question Number : 78 Question Id : 3354728308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The National Water Resources Council (INWRC) was set up by the Government of Indiain _______. | TP A
T TREE ((HSerRE]) &1 ST RT @R o a9 o ot o

Correct: 1 Wrong : 0

Options :

1.¥ 1983
2. % 2012
3. #¥ 2010
4. % 1993

Question Number : 79 Question Id : 3354728309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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IS CARR AC TS

Options :

1. #¥ Deen Dayal Upadhyaya Gram Jyoti Yojana | &9 SATa JUTEAT UTH F1d AT

2. ¢ Madhya Pradesh Urja Vikas Nigam Limited | Te 0SS 31 o fommm fefiee

3. ¥ Madhya Pradesh Rural Electrification Corporation | He Wl UraT fereyd e

4. ¥ Madhya Pradesh Solar Energy Developrment Corporation | Weanes §1¥ 391 ded famd

Question Number : 80 Question Id : 3354728310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the agency engaged in providing solar lighting to villages in Madhya Pradesh? | W& nesr # Wt & ey
A e

Madhya Pradesh Mukhya Mantri Kaushalya Yojana pertains to

Correct : 1 Wrong : 0
Computer Knowledge

Options :

1. ® Finance for agriculture | 9 3q faa
2. ¢ 5kill development | 19 g
3. ® Dairy development | 2% faamE
4. ¥ Mineral development | @i @

Section Id : 335472277

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472277
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4 list of instructio% used by a computer is called __________. | T UYL o ERT SHAHTEA @1 AT aTe] ot &l gt

Correct: 1 Wrong : 0

Options :
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1. ¢ Program | WU

2. ® Memory unit | BHI T

3. ® Video processing | &= wrat@m
4. % CPU | €y

Question Number : 82 Question Id : 3354728312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Linuxisajan ____________. | e O ________ ZIaT 3l
Options :

1. #® Application | UUe s

2. ¥ Operating system | TR E|eq

3. ® Software | SR

4. ® Browser | 939X

Question Number : 83 Question Id : 3354728313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ______ is a program that can infect other programs by modifying them; the modification includes a copy of
the virus program that can go on to infect other programs. | _____ U UET HITTH & ST 3 Wit # uiead = #eh 398
WG T GHaT 5, Uik H AT WA T HIUT =17 % ST G WA T SR THT FAT AT T G T 21

Correct: 1 Wrong : 0

Options :

1. ¥ Worm | am¥

2. ¥ Virus | aoRE

3. # Zombie | FgeT

4. ® Trap doors | TSR

Question Number : 84 Question Id : 3354728314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is ‘Zip’ and ‘Unzip’ in a computer terminology? | FHIYLT &1 Jegmad! § 0 a9 ‘smfT 27 g1 87

Correct: 1 Wrong : 0

Options :

1. #® Zip is to upload a file fast and Unzip is to download a file | T, BT &1 39T & AUAIS T & T ST ST,
BISA Bl STFAAIS T & T 51T 2l

2. ¥ Zip is to compress a file and Unzip is to uncompress a file or folder | 7, Tt B1ger #1 FHIE & oy 8T
. TBTSH T BIcISt 1 STARHIT & &

3. # Zipisto lock a folder and Unzip is to unlock a folder | T0 U&F Bietst @1 @Tw F & Told T SHMNT UF BIasT
P FATE HCA & (eI 51aT 2l

4. ® Zip is to merge two docurments and Unzip is to separate them | 7, ST STHHE @1 79 FAT 7T ST 398
STETT— SIEATT AT 3147 3]
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Question Number : 85 Question Id : 3354728315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrap text feature is present in which one of the following tabs in MS Excel 20077 | UAUH UFda 2007 #,
ﬁuﬂ%ﬁﬁﬁﬁﬁvﬂﬁﬁhwmmm@

Correct: 1 Wrong : 0

a

Options :

1. ¥ Home | 5
2. ® Insert | g9aC
® View | 7Y

4. # Formulas | BTHAT

w

Question Number : 86 Question Id : 3354728316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following CANNOT be done in MS Word? | TAUS a2 H, Toq= § & grar g1 forar <7 gaar 27
Correct : 1 Wrong : 0

Options :

1. # Design flowcharts | FACd H1 &M FAT

2. # Add new rows and colurnns to tables | Taad 78 T 3/ HIAd P AlSAT
3. # Create Pie charts | UTS @ a1

4. ¢ Freeze Panes | BT &1 ISl &¢AT

Question Number : 87 Question Id : 3354728317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The tall page layout is known as ______ in MS Word. | #aT 0 &falae ______ & & H AT 19T 31
Options :

1. ® frame | %W

2. ¢ portrait | Uige

3. ® landscape | dsgaT
4. ® window | fasT

Question Number : 88 Question Id : 3354728318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From which panel you can insert Header and Footer in MS Word 20077 | UATE 98 2007 #, M7 75e 09a & 8¢ 8T
T SIHC WY Ghd 57

Correct: 1 Wrong : 0

Options :
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#® Home | §°
¢ Insert | EI6C
& View [ 79
# Review | T@g

o R

Question Number : 89 Question Id : 3354728319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whlch special character is used to select specific pages for printing in MS Word? | gaud a2 # fiféT & oy fafde
ﬁgzwmﬁﬁfﬁqﬁmﬂﬁmaﬁwmmﬁmm%?

Correct :1 Wrong: 0

Options :

# Hyphen | gE%F
' Comma | ®AT
# Plus | @9

#® Colon | ®iaq

o A

Question Number : 90 Question Id : 3354728320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The protocol that is used to access WebPages on world wide webis _________. | I WicteTd, FradT IuT geie a1se
el TR et 1 UGred e o Tolg e ST e, _________ ZIaT 2l

Correct: 1 Wrong : 0

Options :

® HTML
¢ HTTP

® TCP|IP
# GOPHER

o R

Question Number : 91 Question Id : 3354728321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Pressing and releasing the left button of a mouse twice in quick succession is known as_______. { T & ATER
HIIH @l o1 g Aele-Aele] e S FleAT _______ & &0 H AT AT 31
Options :

1. # click twice | ﬁfﬁgrsﬂ
2 ¢ double click | Zdd T
3. ¥ mouse click | ATIY e

4. # click once | @@ aqd

Question Number : 92 Question Id : 3354728322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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MS Wordisajan__________ software. | TAUG G2 U&F __________ TP 31
Correct : 1 Wrong : 0

Options :

1. #® antivirus | TOETRE

2. ® operating system | SiTRieT fFeew
3. ® web browser | o FTIWT

4. ¢ word processing | g2 W@

Question Number : 93 Question Id : 3354728323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the odd one out. | U& TNy JT HiAT
Correct : 1 Wrong : 0

Options :

1. ¥ LINUX | foqga

2. ® UNIX | %9

3. ¥ WINDOWS | fdgiw
4. ¢ BASIC | df€®

Question Number : 94 Question Id : 3354728324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the ‘Father of Computer’'? | FHIIET FT S-F R4 57
Correct : 1 Wrong : 0

Options :

¢ Charles Babbage | @Ted de
# Alan Turing | e ST

® Pascal | Urg@HA

Bill Gates | fod Tie|

&

o L

Question Number : 95 Question Id : 3354728325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_______ 15 a versatile and interactive tool used to Create and edit text docurmnents such as letters, mermnos,

reports, and publications. | _______ U gl TUT Seeiaed O § (adT IUANT Shge SiggHed wid for o, 7T, Foté i
Er%ﬁfmaﬁaﬂﬁaﬁremﬁﬁuﬁ?rmﬁﬁmwa &

Correct : 1 Wrong : 0

Options :
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1. ¥ Microsoft Word | AE®ETE a2
2. ® Microsoft Excel | HIg®IETT Tadd

3. # Microsoft PowerPoint | ATE®IETTE UTaiqaise
4. ® Microsoft Publisher | AISHIEITE Uleara

Question Number : 96 Question Id : 3354728326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is a part of central processing unit? | MATATET § & F47 Sgat WTETET g &1 U 91T 37

Options :

1. ® Printer | e

2. ® Keyboard | #laig

3. ® Mouse | AIZIE

4. ¥ Arithmetic Logic Unit | sefafes @t give

Question Number : 97 Question Id : 3354728327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following methods cannot be used to enter data in a cell {in MS Excel)? | f4q= & & @17 |t fafs,

(TUUE UFdd ) U A § ST Wice #7 o o] SHaATd "ol 51 dad | 57
Correct : 1 Wrong : 0

Options :

1. ® Pressing an arrow key | U0 g1 gaT=T

2. ® Pressing the tab key | & gl gamT

3. ¢ Pressing the Esc key | Esc it el

4. # Clicking on the formula bar | STH#AT o) W faeres weT

Question Number : 98 Question Id : 3354728328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is Google Chrorme? | TITe sh1F T 87
Correct : 1 Wrong : 0

Options :

1. ¢ Browser | 39T

2. ® Search engine | & goq
3. # e-Mail client | §-0d FaTEe
4. ® Website | dadTge

Question Number : 99 Question Id : 3354728329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the full form of IP in internet terminology? | $e¥-e @1 Yegidal H [P &7 [d6aqd €7 §a7 37
Correct : 1 Wrong : 0

Options :

1. ¢ Internet Protocol | Ee¢-e UIeIdTa
2 % Internet Packet | Ee¥Ae Uhe

3. # Internet Provider | e¢AT NIATZET
4. ® Internet Package | gete o

Question Number : 100 Question Id : 3354728330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which one of the following shortcut keys is used to underline the selected text in MS Word? | TAUH UFde &
TopTT T CFeIT T SISTATEH F & (o] AT RET | 4 fore QTéare i @1 SHAATS T SITdT 37

Options :

1. #® Ctrl + Shift + U
2. % Ctrl + Alt + D
3. ¢ Ctrl+ U

4. ® Alt+D
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